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yenfefat & forg fAder / Instructions for the candidates :

1- qermefl OMR SR U5 WR AUAT Yed GRAST HHID (10 bl 1) faed fordd |
Candidates must enter their Question Booklet Serial No. (10 Digits) in the OMR Answer Sheet.

2- g gUrAvg Srue vreel H B SR T |

Candidates are required to give their answers in their own words as far as practicable.

3- QI AR TR R Y g ofe qurie fAfde oxd 2 |

Figures in the right-hand margin indicate full marks.

4- YAl B AFYES U @ oy 15 fiee @ sifaRes w3 faam w2

An extra time of 15 minutes has been allotted to read the questions carefully.

5- I8 U UH 1 Wuel § fawwh © — Wus 31" Ud WU ‘9" |

This question booklet is divided into two sections — Section “A” and Section “B”.

6- WU ‘A H 80 awTS U & RIH 40 yed sifard 2| afy wemeft 40 9 afdF ueHl & SR
Td/A 2, AT UAH 40 STRI BT B JeAid [HAT S| IS e & fog 1 3fd HeiRa 2
9% IR a7 8 OMR ITR—UFH R He! fddheq Pl dlel /el dfc U 4 WIe by | fdl it
UHR & EARCT/ TR Yard/ @IS /ARG A BT OMR SR TS H YANT T8 B 3gT
T YROTH 3FTT BT |

In Section — A there are 80 objective type question out of which 40 questions are compulsory. If the

candidates answer more than 40 questions, the first 40 questions only will be evaluated. Each
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question carries 1 mark. For answering these darken the correct circle on the OMR answer sheet
with black/blue ball pen. Do not use whitener/liquid material/ blade/ nail etc on the OMR answer

sheet otherwise the result will be invalid.

Qg g H AMIfTS s & 5 Aval & og SoRg 99 2| 9% yed @ fog 2 ofw FuiRa
gl

Sfre # 6 oY SN U (Q.Nos. 1 ¥ 6 ) & R+ 9 =1 3 U=l & SR a4 2 |

I fase & 4 g SR U9 (Q.Nos. 9 9 12 ) € 79 & =i 2 Uedl & SR < 2|
3efeTRA ¥ 4 Y I U (Q. Nos. 15 ¥ 18 ) & R & f&F=l 2 Ui & IR < T |

I H 6 oY IR e (Q. Nos. 21 26 ) § ROTH 4 b=l 3 Ul & SR o ¢ |

3MIST Ya=e H 4 ofg Iag U9 (Q. Nos. 29 9 32 ) & FoH ¥ &= 2 yedl & IR < B |
g d I1faR 8 <d ST U (Q. Nos. 7, 8, 9, 13, 14, 19, 20, 27, 28 ) B | UU®H UeH & foIy 4
st faiRa 2 1 gfoera oI fasi, crefemes vd e # Udd  Ueh—Ud U9H &7 SR oA
2l

In Section-B there are Short Answer Type Questions of 5 Subjects of Social Science. Each question

carries 2 marks.

History has 6 Short Answer Type Questions (Q. Nos. 1 to 6) out of which any 3 questions are to be
answered.

Political Science has 4 Short Answer Type Questions (Q. Nos. 9 to 12) out of which any 2 questions
are to be answered.

Economics has 4 Short Answer Type Questions (Q. Nos. 15 to 18) out of which any 2 questions are
to be answered.

Geography has 6 Short Answer Type Questions (Q. Nos. 21 to 26) out of which any 2 questions are
to be answered.

Disaster Management has 4 Short Answer Type Questions (Q. Nos. 29 to 32) out of which any 2
questions are to be answered.

Apart of these, there are 8 Long Answer Type Questions (Q. Nos. 7, 8, 13, 14, 19, 20, 27, 28). Each
question carries 4 marks. One Long Answer Type Question each from History, Political Science,

Economics and Geography is to be answered.

Pl UPR & golasiFe IUHIOT &I YANT guiadr afsid & |

Use of any electronic appliances is strictly prohibited.
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QUg — 31 / Section-A
IS Y2/ Objective Type Questions
T AT 1 ¥ 80 AP B UAD U B A1 IR fIdew Iy U ¥, RH F Ud H@
2| 9 §RT g Y fdmed &I OMR ¥l W Rfzd & | dad 40 YAl & & IR
q | 40x1=40

Question Nos. 1 to 80 have four options each, out of which one is correct, Mark your selected option

on the OMR sheet. Answer any 40 questions. 40x1=40

1- S8 | T IS fave &1 R 8 7

(A) 1T (B) &

(C) Sfer (D) $T4 &
Which of the following is the cause of social discrimination?
(A) Language (B) Religion
(C) Caste (D) All of these

2- AFN & A IIABR HT HaeT fhe e 4 & 7

(A) ITTDT 14 (B) 3TI=BT 15
(C) 3BT 19 (D) 3T 18
Which article is related to the fundamental right to freedom?

(A) Article 14 (B) Article 15
(C) Article 19 (D) Article 18

3- 9 9 dal gduYd AfReel &l dic &1 FfSerR Far ?
(A) W1 (B) &4

(C) 3TIvS (D) WIRA
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Where among these did women first get the right to vote?
(A) France (B) Russia

(C) England (D) India

4- T Y DI YA Bl IRATUDBT B ?

(A) UTH 41 (B) UTH &l &
(C) I HaE (D) T4 | T
Which among the following is the legislature of the Panchayat?

(A) Gram Sabha (B) Gram Raksha Dal
(C) Gram Kutchery (D) All of these

5. fader T @1 b < # <@ T R 2

(A) HF A (B) 5T A

(C) AR A (D) T | ¥ e
In which list is foreign policy placed?

(A) Union List (B) State List

(C) Concurrent List (D) None of these

6- "Il DI ARHR' AHD [deed be ariRd gair ?
(A) 1996 (B) 2002
(C) 2004 (D) 2005
When was the ‘Right to Information’ Bill passed?

(A) 1996 (B) 2002

(C) 2004 (D) 2005

Page 4 of 32



7- WRART ST UTST & YT el DA o ?
(A) ZIHT YT Foif (B) 31l gy aroruy
(C) ¥IRT IIgd (D) THo Yo BT
Who was the first president of Bhartiya Janata Party?

(A) Shyama Prasad Mukherjee (B) Atal Bihari Vajpayee

(C) Sharad Yadav (D) S. A. Dange

8- g8 U b urdl &1 fderg ST Sdl(gATgcs) | g3 A7

(A) FETSTATST UTET (B) rHa res

(C) TSI ST & (D) A SIRIfRn A
Which of these parties was merged into Janta Dal(United)?

(A) Samajwadi Party (B) Samta Party

(C) Rashtriya Janta Dal (D) Lok Janshakti Party

9- b Gy TAMET gRT GfAL™ & Uda=T | 'gHfARueT Ieg sl TaT?
(A) 40 df (B) 42 df
(C) 44 df (D) 48 df

By which Constitutional amendment the word ‘Secular’ was added to the Preamble of the

Constitution?
(A) 401 (B) 42
(C) 44N (D) 481

10-379 & Hal ThIcHD AT AT 87
(A) HIRd (B) 3R]
(C) P-ls (D) STcidT
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Which of the following is a Unitary system of government?
(A) India (B) America

(C) Canada (D) Sri Lanka

11-379 9 b =g &1 favy <o ura 27

(A) IR YTl B) fEr

(C) affrerTg (D) STR U3
Which of these States has special status?

(A) Arunachal Pradesh (B) Bihar

(C) Tamil Nadu (D) Uttar Pradesh

12-@7% ¥ Ugell IR IR BT IRGR BT T4 [HaD! feqeqdr § gar ?

(A) FARRST 4TS (B) 3reel TagrY aroruy

(C) $78 HAR ORI (D) o o RiE

Under whose chairmanship was the non-congress government formed at the centre for the first
time?

(A) Morarji Desai (B) Atal Bihari Vajpayee

(C) Indra Kumar Gujral (D) V. P. Singh

13- & FISfIROT & SR B8l ST ey g3l o ?

(A) FATSSIRAT (B) qiferfa=
(C) #fretent (D) T I
Where was the public struggle held due to privatization of water?
(A) Nigeria (B) Bolivia

(C) Sri Lanka (D) West Indies
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14- Qe AT BT TS dhe AT o 7
(A) 1946 (B) 1947
(C) 1948 (D) 1950
When was the Constituent Assembly formed?
(A) 1946 (B) 1947

(C) 1948 (D) 1950

15-fI8R gemgel 1o1 AfAf™ 2006 & AR AflRRI & fory fohae ufcrera arReror
& Yag™ § ?

(A) 27% (B) 33%
(C) 50% (D) 65%
What percentage of reservation is there for women according to Bihar Panchayati Raj Act?
(A) 27% (B) 33%

(C) 50% (D) 65%

16-UT Hae<] BT YT DI &Il © 2
(A) e (B) AR
(C) U= (D) U=Id Afea
Who is the head of Village Court?
(A) Mukhiya (B) Sarpanch

(C) Panch (D) Panchayat Secretary

17-JA DI U WA I &Y Giva fdbar 1 ?
(A) 1827 (B) 1829

(C) 1832 (D) 1842
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When was Greece declared an independent nation?
(A) 1827 (B) 1829

(C) 1832 (D) 1842

18- ATAT TSI T A ooy S foredy ?

(A) AT (B) HRT
(C) AT DRSS!
Whose biography did Lala Lajpat Rai wirte?

(A) Napoleon (B) Mazini
(C) Lenin (D) Stalin

19-3%H 3R olIg BT AT BT et fhaq feaar ?

(A) =4 (B) HTel ATRI
(C) ENred (D) T
Who advocated the policy of ‘blood and iron’?

(A) Lenin (B) Karl Marx
(C) Hegel (D) Bismarck

20-30g X5 A" b7 fAHior e fhar o ?

(A) fawms (B) Fe=fra
(C) Tarferad §IFmTe (D) BsR®
Who created the confederation of Rhine status?

(A) Bismarck (B) Metternich
(C) Napoleon Bonaparte (D) Frederick
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21- 3R YT AHEG FIT D WITUAT FHal g7

(A) ST (B) TI¥T
(C) 3o (D) fe
Where was the organization Burschens chaft established?
(A) Germany (B) France
(C) Italy (D) Britain

22-ffeIRaT & @ BIF Yt qEroTare) o ?

(A) ¥e arsaT (B) Y¥T 3Mad
(C) s <l (D) 79 | I
Which of the following was a Utopian Socialist?

(A) Saint Simon (B) Robert Owen
(C) Louis Blanc (D) All of these

23-9IRIfdd Hif~d Bl 594 A b 9™ I ST 9ar & 2

(A) SJeTE shIf=T (B) BRA shif

(C) IR If (D) WTE I

By which of these names is the Bolshevik Revolution known?

(A) July Revolution (B) February Revolution
(C) October Revolution (D) March Revolution

24-3TH | DI @ Yo e 7 ?
(A) STl =T (B) STpIfa
(C) AT (D) SiTefdfRe
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Which of the following is a secret police organization?
(A) Red Army (B) Jecobins

(C) Cheka (D) Zollverein

25-RIH RigTe = IoTHIfd F A= ®e forar ?
(A) 1975 (B) 1978
(C) 1970 (D) 1980
When did Norodom Sihanouk retire from politics?
(A) 1975 (B) 1978

() 1970 (D) 1980

26-9RA H Vold Bl FHIMT [ eMEADHI H gg 2

(A) SIS POl (B) AT SRS
() @ifs Ru (D) wif$ famer
During whose reign was the railway started in India?

(A) Lord Curzon (B) Lord Dalhousie
(C) Lord Ripon (D) Lord Minto

27-TME 1 QTSI AT BT YwAd Hal q DI ?

(A) TS AYgdC (B) ATERHCI 3MT3TH
(C) Brefiae (D) TRGTeH

From where did Gandhi start the Dandi March?

(A) Dandi Beach (B) Sabarmati Ashram
(C) Calicut (D) Bardoli
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28- RIS UTET BT UIH FRIG dal gail AT ?

(A) TETS (B) TI%

(C) Pefdhdl (D) gelleldlg
Where was the first conference of Swaraj Party held?

(A) Lucknow (B) Bombay

(C) Calcutta (D) Allahabad

29-398 ¥ s A= N & 99 ¥ ST ST § ?
(A) HYo TSR (B) HIZHE 3fell o=

(C) W 3fegel TFHR WM (D) W FESI< A
Who among these is known as Frontier Gandhi?
(A) C. Rajagopalachari (B) Mohammad Ali Jinnah

(C) Khan Abdul Gaffar Khan (D) Swami Sahajanand Saraswati

30-'dg] Bl AR el &1 ART fhaq fear ?

(A) SIS A& (B) XTSIl MM AR I

(C) RIS & (D) 3R T= [TENTR
Who gave the slogan of “Go back to the Vedas”?

(A) Dayanand Saraswati (B) Raja Ram Mohan Roy

(C) Chittaranjan Das (D) Ishwar Chandra Vidyasagar

31-f9eR Ui fha |91 &1 ng=r feaa @) ?

(A) FESIHG AR (B) WM faddpr—<

(C) STIYBTRT ARTITT (D) Ay g
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Who founded Bihar Provincial Kisan Sabha?
(A) Sahajanand Saraswati (B) Swami Vivekanand

(C) Jayprakash Narayan (D) Sri Krishan Singh

32-9IRA # UBAAT bl ae hd UTRT T o ?
(A) 1850 (B) 1875
(C) 1881 (D) 1920
When was the first Factory Act passed in India?
(A) 1850 (B) 1875

(C) 1881 (D) 1920

33-fafewr wog @ g IS m 3 IR ¥ YUR WR 3¢ ST Ul & UHIEHR
P FaTT B fear ?
(A) T srfefras B) foew sfear vae
(C) 1813 &1 =R IrfAIfay O ESECAES]

Which Act of the British Parliament ended the monopoly of the East India Company on trade in

India?
(A) Regulation Act (B) Pitt’s India Act

(C) The Charter Act of 1813 (D) Ilbert Bill

34- RT3 9 gR[IHT S¥C @I WRITUAT & UIS S99 | T BRI o7 ?
(A) ATHIRTS = (B) I AETARI
(C) 3Mfe® i~ (D) TR fawToT
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Which of the following was the reason behind the establishment of ‘City of Bombay

Improvement Trust’?
(A) Social Revolution (B) Plague Epidemic

(C) Economic Revolution (D) Racial division

35-AHYBTIT AT Rd BT BT b9 fba fhar o ?

(A) DITISE AA (B) S¥RT=% fIomITR

(C) 9Rtig Ry (D) HIiTelTed Y

Who published Som Prakash Weekly magazine?

(A) Keshav Chandra Sen (B) Ishwar Chandra Vidyasagar
(C) Bhartendu Harischandra (D) Moti Lal Ghosh

36- =g SfSAT WAMRYA &I fHad & far ?

(A) IR faeTd (B) HETHT TTef
(C) TAI S¥iT (D) ATl BRaaTd
Who started the newspaper, ‘New India’?

(A) Bal Gangadhar Tilak (B) Mahatma Gandhi

(C) Annie Besant (D) Lala Hardayal

37-X9M AR ®al | 3R BIaT o ?
(A) IRA (B) $1
() = (D) TP
From where did the Silk route begin?
(A) India (B) Iran

(C) China (D) Iraq
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38-31 QU H ¥ I UIgfad AaeAl § = fqu~ § ?

(A) IR (B) TA

(C) gt 5T IJHRDI (D) STT=
Which of these countries is extremely poor in natural resources?
(A) India (B) China

(C) United State of America (D) Japan

39-39 Al H ¥ DI AAID IATEGRT ITAT & 7 (i & fow wroa # wadt ol o & #7)

(A) TRV Ta2T (B) anfsem

(C) BIITG (D) W& U3

Which of these states has the most forest cover?

(A) Arunachal Pradesh (B) Odisha

(C) Chhattisgarh (D) Madhya Pradesh
40-fEeeT L S+ waf Rerd g ?

(A) AEIRTSE (B) feHmerel gawr

() uf¥e dmre (D) 3

Where is Rohilla National Park located?

(A) Mabharashtra (B) Himachal Pradesh

(C) West Bengal (D) Odisha

41-9TFR FETE R 8 ?
(A) STeT (B) U a1 R
(C) IS8 (D) S8 ¥ B &I
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What is Sagar Samrat?
(A) Dam (B) Offshore Oil rig

(C) Port (D) None of these

42-59 & TN 9 69 g fagga g8 &1 i far T o ?

(A) PIHRIIR TRATY fagger e (B) BT wATY fAET T8

(C) FsTe ATy faga T8 (D) FATFHH TRA FagT e
Which nuclear power plant was constructed with the cooperation of Russia?

(A) Kakrapar Atomic Power Station (B) Kaiga Atomic Power Station

(C) Kudankulam Nuclear Power Plant (D) Kalpakkam Nuclear Power Plant

43-39 9 A GexT N2 HBl el & 7

(A) DU (B) O+
(C) NI (D) v[c
Which of these is called golden fibre?

(A) Cotton (B) Flax
(C) Silk (D) Jute

44-for=forlRad & @ fra 3FTRT &7 Ut foam ordr 8 ?

(A) T (B) WS
(C) TR (D) 3T
Angora wool is obtained from which of the following?

(A) Goat (B) Sheep
(C) Rabbit (D) Camel
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45-9Rd H SIg ST HT Ugell HIREM] Hal Rqifud far a7 o ?
(A) AT (B) U= e
(C) IIRYvS (D) BHCH
Where was the first iron and steel factory established in India?

(A) Tamil Nadu (B) West Bengal

(C) Jharkhand (D) Karnataka

46-919TeT el H fbd 1 &1 Rara gar o ?

(A) BT AT SHaTES (B) e TS eSS
(C) THergd smgTSHe (D) 379 & I

Which gas was leaked in Bhopal tragedy?

(A) Carbon Monoxide (B) Sulphur dioxide

(C) methyl Isocyanate (D) All of these

47-9RT BT A AT LT ISTHNT I 8 2
(A) NH-1 (B) NH-44
(C) NH-30 (D) NH-4
Which is the longest national Highway of India?
(A) NH-1 (B) NH-44

(C) NH-30 (D) NH-4

48- 99 IT Xol SIF I g 2
(A) 7l T (B) SR Y&
(C) Uf¥=d erd (D) 9d Nefd
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Which is the largest Rail Zone?
(A) Central Railway (B) Northern Railway

(C) Western Railway (D) Eastern Railway

49-97g YRGS BT ISEIIBRT De fbdr 1T o ?
(A) 1933 (B) 1947
(C) 1950 (D) 1953
When was air transport nationalized?
(A) 1933 (B) 1947

(C) 1950 (D) 1953

50-FfeAT F ol Teb DI ALY STAAT B 2

(A) RTSTT TR —1 (B) T STefrt —2
(C) TS STeTATT —3 (D) T STAART —5
Which national Waterway is from Sadiya to Dhubri?

(A) National Waterway-1 (B) National Waterway-2
(C) National Waterway-3 (D) National Waterway-5

51-TecT fa9ry anfefe & Pl g ?

(A) SR Haw (B) HERTS
(C) Uf¥gH €1t (D) TSIRIA
Where is Falta special Economic Zone?

(A) Uttar Pradesh (B) Maharashtra
(C) West Bengal (D) Gujarat
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52-HIASITgC s 5T ATaiferd aram Siar g 2

(A) PR
(C) fearaeT yag
In which state is Monazite found the most?

(A) Kerala

(C) Himachal Pradesh

(B) YISTReITH

(D) HERTE

(B) Rajasthan

(D) Maharashtra

53-MRd BT DlicAmderd fbd TR &I B8l Sl & 7

(A) PTTIR
(C) xd

Which city is called the Cottonopolis of India?

(A) Kanpur

(C) Surat

54-HodqE H DI @S grT Sfar § 2
(A) DIIT
(C) araT
Which mineral is found in Kudremukh?

(A) Coal

(C) Copper

55-f3rofy 8} &1 foafor wel fear Tar g ?

(A) U= T THRoT

(C) ST

(B) s
(D) DIABTAT

(B) Mumbai

(D) Kolkata

(B) AT

(D) A8 3IH

(B) Gold

(D) Iron ore

(B) TS
(D) HISTGR
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Where has the Triveni Canal been constructed?
(A) West Champaran (B) Gopalganj

(C) Darbhanga (D) Bhojpur

56-3 TRATSTRN ¥ T B9 Jdmel el § Rerg g ?

(A) ST AT aRTSTT (B) IMTHCA RIS

(C) |9 T RIS (D) TRAR STATITI YRIATSTHT
Which of these project is located in Sitamarhi district?

(A) Durgavati Reservoir Project (B) Bagmati Project

(C) Son River Project (D) Barnar Reservoir Project

57-31¥h IATGH H YRT &I faed § &I 91 W+ © ?

(A) Ugell (B) T
(C) TRt (D) =er
What is the position of India in the world in mica production?
(A) First (B) Second
(C) Third (D) Fourth

58-MRd H =M BT 3RO IS g hie & ?
(A) B (B) fAeTg
(C) uf¥erd §Tet (D) 319

Which is the leading tea producing state in India?

(A) Kerala (B) Tamil Nadu

(C) West Bengal (D) Assam
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59- UM g9 & Ty fove @it &1 siraearesar gl & 7
(A) HITHAT (B) Tl 37D
(C) dfaTEe (D) fes
Which mineral is required to make aluminium?

(A) Manganese (B) Iron ore

(C) Bauxite (D) Tin

60-50 T A HH 987 el el H pia A Rerfar Sau— g g ?

(A) 913 (B) 4@t

(C) FFT (D) *FET
Which condition occurs in areas with less than 50cm rainfall?
(A) Flood (B) Drought
(C) Tsunami (D) Landslide

61- T <1 @1 98R ¥ 91¢ & & HROT AT Il © 2

(A) T (B) A4

(C) B (D) 1Y
Which river is considered to be the main cause of flood in Bihar?
(A) Ganga (B) Son

(C) Kosi (D) Punpun

62-39 Ul 3ucrall § | $IF f[d8R @I ufceay gwifdd &rar 2 ?

(A) P (B) g
(C) YXGeT (D) 9T
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Which of these natural disaster’s effects Bihar every year?
(A) Earthquake (B) Tsunami

(C) Landslide (D) Flood

63-3Tfdvg BT T 398 O fead © ?

(A) dTe (B) X{@1

(C) ¥ (D) Y f1
Epicentre is related to which of these?

(A) Flood (B) Drought

(C) Earthquake (D) Landslide

64-TRA H SAEEA B gite | fd8R BT I A1 9 & 7

(A) Ugell (B) QT
(C) TRT (D) 3rer
What is the rank of Bihar in terms of populations in India?
(A) First (B) Second
(C) Third (D) Fourth

65-Ifd fh M Bl 398 I b 99 9 990 & ?

(A) ST 3T (B) G 31T

(C) T 3 (D) SIS

By which of the following names is per capita income known?

(A) Marginal Income (B) Total Income
(C) National Income (D) Average Income
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66-fafTrag o TRMe v ¥ R 59 wR amenfRa o ?

(A) o fafra gomed (B) #ifae faferra gomelt
(C) dfpr gttt (D) 79 & I

What was trade based on in the early stages of exchange?

(A) Barter System (B) Monetary System

(C) Banking System (D) All of these

67- Ao Ta AT &1 T 399 9 fhaa g ?

(A) R YoITe] (B) EHTRAT
(C) I 31 (D) NI
Maclagan Committee is related to which of the following?

(A) Tax System (B) Co-operative
(C) National Income (D) Poverty

68- g JENN BI Aferbed Fder HAHr @ g ?

(A) TP DTS (B) 3 IXIS
(C) 5 BRI (D) 7 BRI
What is the maximum investment limit of small scale industries?
(A) One Crore (B) 3 Crore
(C) 5 Crore (D) 7 Crore

69- N STANT BT Y= 37egel B g 2

(A) Irgafa (B) TeITHAT
(C) faw= (D) fa<7 afa
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Who is the Ex-officio chairman of NITI Aayog?
(A) President (B) Prime Minister

(C) Finance Minister (D) Finance Secretary

70- A1 URs™ | AT &9 FIT HeeArar & 2
(A) 3Td (B) A
(C) frraer EER]
What is money earned through human labour called?

(A) Income (B) Expenditure

(C) Investment (D) Saving

71-9RGR RS I BT IISTIBRT e 3T AT 2
(A) 1921 (B) 1935
(C) 1949 (D) 1952
When was the Reserve Bank of India nationalized?

(A) 1921 (B) 1935

(C) 1949 (D) 1952

72-3TH W DI MG MR F¥aT & 91T & ?

(A) AR (B) T

(C) T3 D) fa<T

Which of the following is a part of social infrastructure?

(A) Communication (B) Transportation
(C) Education (D) Finance
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73-\gh I 7 [HY ARSI HAgpIRar ay @iy foar ?
(A) 1985 (B) 2010
(C) 2012 (D) 2018
Which year was declared by the United Nations as the International Year of Co-operatives?
(A) 1985 (B) 2010

(©) 2012 (D) 2018

74-FURHT AfABRI DI TYOT FIYLH Hal &l Ts oY ?

(A) dHTsT (B) 9IRd
() 3R VRIS
Where were Consumer rights first announced?

(A) Canada (B) India

(C) America (D) Bangladesh

75-fawa o1 fafie=T srferarensit &1 Td TR & SIS arell Ufhar & &7 FEd & ?

(A) SERIEHRT (B) Fsfa<or

(OAsicay (D) S & wf

What is the process of connecting different economics of the world with each other called?
(A) Liberalization (B) Privatization

(C) Globalization (D) All of these

76-3TH W BIF AT fO<IT T BT ISR & 2
(A) Ao 9@ (B) GEBNI dh
(C) &= U §h (D) 379 &
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Which of the following is an example of an institutional financial source?
(A) Commercial Bank (B) Co-operative Bank

(C) Regional Rural bank (D) All of these

77-9Rd BT AR HRITA T &5 § BN 8 ?

(A) TTIfA® & B) fgiu®s e

(C) TAI® &3 (D) $7H | PIg ol
In which sector is most of India’s workforce employed?

(A) Primary Sector (B) Secondary Sector
(C) Tertiary Sector (D) None of these

78-9Rd H #Hifgs T &1 MLRoT B9 HRar g ?

(A) IRA IRBR B) o F=Tery

(C) MR RSd §& (D) foT ST

Who decides the monetary policy in India?

(A) Indian Government (B) Ministry of Finance
(C) Reserve Bank of India (D) Finance commission

79-4fA fABrT & BT Ul fhe AW | ST ST o ?

(A) &F- U7 b (B) % dud J&

(C) WEPI d (D) $FH & BTE e
By what name was land Development bank earlier known?

(A) Regional Rural bank (B) land Mortgage Bank
(C) Co-operative Bank (D) None of these
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80-5H @ fbg &A1 # PIs I 8T Berar g ?

(A) R ST (B) WY ST

(C) et AT (D) =Te] ST

Which of these deposits does not earn any interest?

(A) Fixed Deposit (B) Recurring Deposit
(C) Term Deposit (D) Current Deposit

Yus — § / Section-B

gfieN / History

oly] ARG g9 / Short Answer Type Questions
UeT WA 1 ¥ 6 dP & oY SR & | sl 3 YAl & IR & | TP U & oIy
2 3fd fuiRa €1 3x2=6

Question Nos 1 to 6 are short Answer Type. Answer any 3 questions. Each question carries 2 marks.

3x2=6

1- STHAT & UPIBRT BT &I G 918y | 2
Write two obstacles to the unification of Germany.

2- BT a1 &1 Fa SyAiar o ? 2

What was the usefulness of the Ho-Chi-Minh route?

3- STefs @ SIETe BIfT BT ARCGY HER UG & 3160 IUNN W AT TG IS
? 2

What impact did England’s Industrial Revolution have on Indian cottage and handicraft

industries?
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4- BT BT AeYH T R FT 9T ger?
What effect did Urbanization have on the Middle-Class?

5- RgoTmd TSIt &I T BIROT o7 ?

What was the reason for Khilafat Movement?

6- IJASINT ATl | arae forar a7 o ?

Why was the non-cooperation movement withdrawn?

e SR W9 / Long Answer Type Questions
e AT 7 3R 8 < IR 2 | vl TP U BT SR < | IS e & oy 4

3w FEiRd 2| 1x4=4
Question Nos 7 and 8 are Long Answer Type. Answer any one question. Each question carries 4
marks. 1x4=4
7- IRAR LT JAGTAT H AT DI YADBT BT [qda11 B | 4

Discuss the role of Satyagraha in the Indian national movement.

8- 7T onfdf& wif (NEP) fohd UBR Araare] Rigrdl & <rel aosiar off ? 4

How was the New Economic Policy (NEP) a compromise with Marxist principles?
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ST fdsI9 / Political Science

o SOMERES] / Short Answer Type Questions
U AT 9 ¥ 12 T g SR B | fbel 2 Ul & SR < | U U & foy 2

3w FeilRa 2| 2x2=4
Question Nos 9 to 12 are Short Answer Type. Answer any 2 questions. Each question carries 2
marks. 2x2=4
9-  GETIT RIS Bl PRART GRSl & AW 9d1sy | 2

Name the three tier institutions of Panchayati Ra;.

10- FHAdT A A AT AT T 8 2 2

What do you mean by Concurrent list?

11- TR IeIfde o fod ded § 7 2

What is a National Political Party?

12- T 98 B b9 TR AR 81T & ? 2

To whom does the anti-defection law apply?

CEESHNE R RS / Long Answer Type Questions

U3 AT 13 T4 14 <H SR © | BT Th U Bl IR < | TAD U b (Y 4
s FeilRa 2| 1x4=4
Question Nos 13 and 14 are Long Answer Type. Answer any one question. Each question carries 4

marks.

1x4=4

13- 37T f5d YR A%hd dAlbad & fog g & ? 4

How is illiteracy a challenge to a successful democracy?
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14- T B GIeeN & 3o —3TeT did T & ? 4

What are the different methods of power sharing?

31ef3M= / Economics

oly] ARG g9 / Short Answer Type Questions
U AT 15 9 18 T g SN © | fhgl 2 Ul & SR S | Ud U™ & forg

2 3fd iR 2| 2x2=4
Question Nos 15 to 18 are Short Answer Type. Answer any 2 questions. Each question carries 2
marks. 2x2=4
15-SeRaTdl 3N yomell I ar AU 8 2 2

What is meant by Liberal Economic System?

16-Ufhfd oIk ¥ 3MY 7 |AST & 2 2

What do you understand by Stock Market?

17-a10Tg e ST & BIs 3T Tl BRI 9d1sy | 2

Mention any two agency functions of Commercial Bank?

18-TRIET ¥@T Bl gRITRT B | 2

Define Poverty line.
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el ST W¥ / Long Answer Type Questions
U3 AT 19 T4 20 <Y SR € | B U U BT SR < | YAD U B foU 4
3w FeiRd 2| 1x4=4
Question Nos 19 and 20 are Long Answer Type. Answer any one question. Each question carries 4

marks.

1x4=4

19- ART OiY famraeiial <21 # geA fa<iig dwermsil &1 IuAIfirar o faa=mr a3 | 4

Discuss the usefulness of micro financial institutions in a developing country like India.

20- JITETHRT BT UlHAT H TGRS BRI BT YHBT Bl faa=mT o | 4

Discuss the role of multinational companies in the process of globalization.

TN/ GEOGRAPHY

oy ARG g9 / Short Answer Type Questions

U AT 21 W 26 Tb B oY SN | [l 3 YTl B SR o | UhD U b

fog 2 sfe iR 2 | 3x2=6

Question Nos. 21 to 26 are Short Answer Type. Answer any 3 questions. Each question carries 2

marks. 3x2=6

21-g%h R BT AR BN | 2
Define Dry farming.

22-RIRA T 9 7 AU 7 2 2

What is meant by basic Industries?
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23-9Rd ¥ Siele qaT & del urdl ol & ? 2

Where is alluvial Soil mainly found in India?

24-THIgC BT IUIANT Hal fhal Fdr & 2 2
Where is Graphite used?
25-fdgR @1 1 A< g1y uRAeERN & 7 fRav | 2

Write the names of two river vally projects of Bihar.

26-9g S 9T B ? 2

What is soft water?

EEESSHE RS / Long Answer Type Questions
U3 AT 27 UG 28 WY SR & | fB Th U BT SR < | T U3 D o1 4
3t fReiRa €| 1x4=4

Question Nos 27 and 28 are Long Answer Type. Answer any one question. Each question carries 4

marks.
1x4=4
27-9&T 10 & BRI BT o DY | 4
Describe the factors of soil formation.
28-FITCT 3N &3 o Wiera faror Y | 4

Give a brief account of Hugli industrial region.
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MUl Yd</ Disaster Management

ol IR g / Short Answer Type Questions
U W1 29 9§ 32 T ofg SN ¢ | fhgl 2 Ul & SR S | Ud U™ & forg

2 3fd iR 2| 2x2=4
Question Nos 29 to 32 are Short Answer Type. Answer any 2 questions. Each question carries 2
marks. 2x2=4
29- 91§ ® BRI BT Il DI | 2

Mention the causes of flood.

30- & a9 fIRay | 2

Write the names of seismic waves.

31- UfHe SUAR I 39 T A9 © 2 2

What do you mean by first aid?

32- 3AUST YaEH H WAl FISA Bl T AT § ? 2

What is the role of voluntary organizations in disaster management?
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